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7.6 Properties of Linear Systems

* Systems of linear equations may have...

|8~ SolvAien | D S\/J?/%ih%d BN

g codbod
. A N AT @/@H/g
~{ h )
I~ ™~ N £ l /\“\ﬂ/*)
4 N ~
\ S 7
\\\‘
* slopes are * slopes are * slopes are
CL%&. &!i M_QSM & Son
* y-intercepts are * y-intercepts are
ﬂ{/f{w wmQ Sl
o teaient fovm of equ o e s Y=rmx b
( J)Q - \\/J\ \
ex. Find the number of solutions to each system without solvmg
a) 2x+y 8 @ = -2X+e | O
x+2y=16 @ 1:9 XLk Samt Lo
2

L5 W% WWM& oincielout
W M ol \/vw%\/\/dri §D{

b) 3x+y=9 cry=9 @D :> = Sam¥ B@V&
oo — 10 ‘(/kb{ZL[\/L\/\/t
6x + 2y = 12 @\>

zy /GY HZ

yﬂxsx ¥ b @

S fo LW) oL e (Ll H}F devdv Méfr"g&/\tﬂ& 3
4 00 NG % l\/l




April 30, 2018

N — o
C) x+y=8 )@ AR Oc%u“t L"W

QOQ}¥Q )@\/"v ) 9/

\/L\/{,(,/\/J’L{/(fbca m

ex. Given the equation -2x +y =4 (1) , write another equation that will form a
system with:

a) one solution b) no solutions c) infinite solutions
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